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Introduction
During RAN1#92bis meetings, the following agreements were achieved on NR RLM:

Agreements:
· To reply the LS from RAN2 in R1-1803577
Answer 1:
· The maximum number of BFD-RS(s) is 2 per BWP. 
· The maximum number of RLM-RS(s) and BFD-RS(s) should depend on whether same RS(s) is shared between RLM and BFD. The maximum number of unique RS(s), each RS using different set of resources, for both RLM-RS(s) and BFD-RS(s) are:
· X RS(s) per BWP for below 3 GHz,
· FFS X – to conclude this week - X=2(working assumption)
· Y RS(s) per BWP for above 3 GHz and below 6 GHz,
· FFS Y – to conclude this week - Y=6(working assumption)
· Z RS(s) per BWP for above 6 GHz,
· FFS Z – to conclude this week - Z=8(working assumption)
· where maximum number of BFD-RS(s) is 2 RSs per BWP and maximum number of RLM-RS(s) is 2 RSs per BWP for below 3 GHz, 4 RSs per BWP for above 3 GHz and below 6 GHz, 8 RSs per BWP for above 6 GHz. 
· Please note that support of 8 RLM-RSs and 2 BFD-RS for above 6 GHz is feasible if the 2 BFD-RS are a subset of 8 RLM-RSs.
Answer 2:
· Yes. They can be completely orthogonal, depending on NW configuration.
 
In this contribution, we further discuss the remaining issues on NR RLM and focus on the total numer of RLM-RS(s) and BFD-RS(s). 
Discussion
During the last RAN1 meeting, the total numer of RLM-RS(s) and BFD-RS(s) has been intensively discussed and the above working assumption has been reached. For the specific value of X/Y/Z, we share the same view as companies pointed out in the last meeting that BFD-RSs should be a subset of RLM-RSs sets. We didn't see clear motivation to have a configuration where BFD-RS(s) is not the subset of RLM-RSs. Furthermore, frequency band for above 3 GHz and below 6 GHz would be the firstly deployed bands within many coutries and regions in the next few years, therefore the UE’s complexity shall be taken care of to enable the NR deployment.
Therefore, we propose to confirm the X =2 and Z =8 and change Y to 4 in the above working assumption. 
Proposal 1: confirm the X =2 and Z =8 and change Y to 4 in the RAN1#92bis working assumption. 
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Conclusion
In this contribution, the remaining details of RLM was discussed. The following is proposed.
Proposal 1: confirm the X =2 and Z =8 and change Y to 4 in the RAN1#92bis working assumption. 

